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Number Finding 9 Test

Instruction: The test comprises of 75 items. Each item has four groups of digits (A, B, C & D). Your task
is to find out the group of digits which contains a '9' and indicate your answer by clicking mouse. In case
digit '9' appears in more than one group, your answer will be 'E".

R3en: T ThAT § 75 T g1 TAF T § Sl 6 A qGE (A, B, C, 3T D) AU T E) IHT A 4T AT G
TR e 3% T3 § '9" T 37#h ST g TAT ATTRT AISH & ToTeh Heh I aAT gNIT| AT FoReT 0 § U | AT 3
THET | 9" T 3ieh AT g AT UHT TaeAT H 39 T FT 39 'E' AT

Q1. (a)58753741

(b) 45385579

(c) 26756741

(d) 45388575

(a)A (b) B (ccC
(d)D (e) E

Q2. (a) 54827940
(b) 2386758
(c) 54821340
(d) 2386758
(a) A (b) B (©)C
(d)D (e) E

Q3. (a) 7863451
(b) 538582019
(c) 7822451
(d) 538592015
(a) A (b) B (©C
(d)D (e) E

Q4. (a) 487580753
(b) 356734895

(c) 45220153

(d) 356734875

(@A (b) B (cC
(d)D (e) E

Q5. (a) 534018835
(b) 855084537
(c) 2829225
(d) 855084537
(a)A (b) B (9 C
(d)D (e) E
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Q6. (a) 238742840
(b) 53625793
(c) 238202940
(d) 53625753
(a) A (b) B ©C
(d)D () E

Q7. (a) 75854839
(b) 754836324
(c) 79854230
(d) 754836324
(@A (b) B ©C
(dD (e) E

Q8. (a)52381805
(b) 84754820
(c) 52921802
(d) 84754820
(@A (b) B (©c
(d)D (e)E

Q9. (a) 345627280
(b) 354897970
(c) 3457120
(d) 354857870
() A (b) B (g C
(d)D (e)E

Q10. (a) 803527267
(b) 545825289
(c) 53527287

(d) 945825287
(@A (b) B (¢
(d)D (e) E

S1. Ans.(b)

Sol. Correct answer is: (b) 45385579

Here in option B (45385579) digit 9 is given.
a5l 3T 2 (b) 45385579

I8! faseT B (45385579) ¥ 3 9 faam w7 8
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S2.Ans.(a)

Sol. Correct answer is: (a) 54827940

Here in option A (54827940) digit 9 is given.
Tl 3T 8: (a) 54827940

T8t oot A (54827940) ¥ 3% 9 fa=m =T 8

S3. Ans.(e)

Sol. Correct answer is: (e)

Here, digit 9 is given in both option B (538582019) and option D (538592015), hence option E will be
the correct answer.

HET 3T 2: (e)

Tgt, =T B (538582019) 3fi¥ fa&eT D (538592015) AT H 3% 9 a1 74T §, THT fashew E T8l 3¢

2T

S4. Ans.(b)

Sol. Correct answer is: (b) 356734895

Here in option B (356734895) digit 9 is given.
Tt 3¥ g: (b) 356734895

72T fa%ed B (356734895) | s 9 fa=m 147 2

$5. Ans.(c)

Sol. Correct answer is: (c) 2829225

Here in option C (2829225) digit 9 is given.
el 3TY g () 2829225

T2t fased C (2829225) ® 3 9 fa= 7 81

$6. Ans.(e)

Sol. Correct answer is: (e)

Here, digit 9 is given in both option B (53625793) and option C (238202940), hence option E will be the
correct answer.

TE I ()

g1, Ao B (53625793) i faseT C (238202940) 3T & 3% 9 3T 74T g, THfU fashed E Tt 39¢

2T

S$7.Ans.(e)

Sol. Correct answer is: (e)

Here, digit 9 is given in both option A (75854839) and option C (79854230), hence option E will be the
correct answer.

TET I 2 (e)

Tgl, faseT A (75854839) i fased C (79854230) =T | 3% 9 foam 7 ¢, Tofory e E @@t 397

LR
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$8. Ans.(c)

Sol. Correct answer is: (c) 52921802

Here in option C (52921802) digit 9 is given.
Tl I 8: () 52921802

gt fawed € (52921802) 37 9 faar AT B

S9. Ans.(b)

Sol. Correct answer is: (b) 354897970

Here in option B (354897970) digit 9 is given.
Tt 3a¥ g: (b) 354897970

g1 fa®ed B (354897970) | s 9 fam 147 1

$10. Ans.(e)

Sol. Correct answer is: (e)

Here, digit 9 is given in both option B (545825289) and option D (945825287), hence option E will be
the correct answer.

HET 3T 2: (e)

g1, Ao B (545825289) 3T faaed D (945825287) @1 & 3% 9 o= w141 §, THferw fashew E 98l 39%
ST
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